me

te

log posterior dp

acceptance (%)
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29.985

60 100

-28550 20

-28565

40

20

1198450 iterations, 470 draws from 6 parallel chains.
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100

0.010 0.020

0.000

! ! ! ! ! ! !
2.705 2.710 2.715 2.720 2.725 2.730 2.735

N =23409 Bandwidth = 0.0004667

_/ f

! ! ! ! ! ! !
29.986 29.988 29.990 29.992 29.994 29.996 29.998

N =23409 Bandwidth = 0.0002057

dp

T T T T T T
40 60 80 100 120 140

N = 23409 Bandwidth =1.891

Density

Density

20 30 40 50 60 70

10

0.05 0.10 0.15 0.20

0.00

! ! ! ! ! !
0.10 0.11 0.12 0.13 0.14 0.15

N =23409 Bandwidth = 0.0008633

®

N = 23409 bandwidth = 0.1998 kernel = epanechnikov

true parameters:

me= 2722
n= 0.1268
t.= 700000330
®= 0
d.= 64

Every 50th out of
iterations 30000 to 1200400
from 1 parallel chain(s)
(23409 samples).
Acceptance rate: 45.1%
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